應物三甲   0932363   沈帛寬   Optic Problem 11-11
Problem 11-11
Suppose that a 
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 gas laser emits a diffraction-limited beam at wavelength 10.6 
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, power 2 kW, and diameter1 mm. Assume that, by multimoding, the laser beam has an essentially uniform irradiance over its cross section. Approximately how large a spot would be produced on the surface of the moon, a distance of 376,000 km away from such a device, neglecting any scattering by the earth’s atmosphere? What will be the irradiance at the lunar surface?
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